APEX DYNAMICS, INC. AE Series

Specifications

Gearbox Performance
Model No. |'Stage| Ratio | AE0O50 | AEO70 | AEO90 | AE120 | AE155 | AE205 | AE235

3 20 55 130 208 342 588 1,140

4 19 50 140 290 542 1,050 1,700

- 5 22 60 160 330 650 1,200 2,000
rles ] 6 20 55 150 310 600 1,100 1,900
7 19 50 140 300 550 1,100 1,800

8 17 45 120 260 500 1,000 1,600

9 14 40 100 230 450 900 1,500

10 14 40 100 230 450 900 1,500

Planetary Gearboxes S s N S

Nominal output torque T,y Nm 25 22 60 160 330 650 1,200 2,000
g Sh, & 30 20 55 150 310 600 1,100 1,900
High Precision — T e T T
40 17 45 120 260 500 1,000 1,600
"y 2 45 14 40 100 230 450 900 1,500
ngh Speed 50 22 60 160 330 650 1,200 2,000
- 60 20 55 150 310 600 1,100 1,900
Y 70 19 50 140 300 550 1,100 1,800
80 17 45 120 260 500 1,000 1,600
90 14 40 100 230 450 900 1,500
100 14 40 100 230 450 900 1,500
Max. output torque T, Nm 1,2 3~100 3 times of nominal output torque
Nominal input speed n,, rpm 1,2 3~100 5,000 5,000 4,000 4,000 3,000 3,000 2,000
Max. input speed n,, rom 1,2 3~100 10,000 10,000 8,000 8,000 6,000 6,000 4,000
Backlash arcmin _ 1 el =8 =8 =8 =8 =8 =8 =8
2 15~100 =12 =12 =12 =12 =12 =12 =12
Torsional rigidity Nm/arcmin 1,2 3~100 3 7 14 25 50 145 225
Max. radial load F,;’ N 1,2 3~100 702 1,377 2,985 6,100 8,460 13,050 8,700
Max. axial load F,,, N 1,2 3~100 350 630 1,300 2,400 4,000 6,200 4,800
Max. axial load F,,; N 1,2 3~100 390 765 1,625 3,350 4,700 7,250 18,000
Service life hr 1,2 3~100 20,000 >
: . 1 3~10 =97%
Efficiency 1 % 2 15~100 =94%
Weight kg 1 3~10 0.6 1.4 3.3 6.9 13 31 53
2 15~100 0.9 1.6 4.7 8.7 17 35 66
Operating Temp’ °c 1,2 3~100 -10°C~+90°C
Lubrication 1,2 3~100 synthetic gear grease (NYOGEL 792D)
Degree of gearbox protection 1,2 3~100 IP65
Mounting position 1,2 3~100 all directions
1,2

Noise level (n,=3000rpm) dB 3~100 <56 <58 <60 <63 <65 <67 <70

Gearbox Inertia

Model No.

3 0.03 0.16 0.61 3.25 9.21 28.98 69.61
4 0.03 0.14 0.48 2.74 7.54 23.67 54.37
5 0.03 0.13 0.47 2.71 7.42 23.29 53.27
6 0.03 0.13 0.45 2.65 7.25 22.75 51.72
7 0.03 0.13 0.45 2.62 7.14 22.48 50.97
8 0.03 0.13 0.44 2.58 7.07 22.59 50.84
9 0.03 0.13 0.44 2.57 7.04 22.53 50.63

10 0.03 0.13 0.44 2.57 7.03 22.51 50.56

15 0.03 0.03 0.13 0.47 2.71 7.42 23.29

20 0.03 0.03 0.13 0.47 2.71 7.42 23.29

Mass moments of inertia J, kg - cm’ 25 0.03 0.03 0.13 0.47 2.71 7.42 23.29
30 0.03 0.03 0.13 0.47 2.71 7.42 23.29

35 0.03 0.03 0.13 0.47 2.71 7.42 23.29

40 0.03 0.03 0.13 0.47 2.71 7.42 23.29

2 45 0.03 0.03 0.13 0.47 2.71 7.42 23.29
50 0.03 0.03 0.13 0.44 2.57 7.03 22.51

60 0.03 0.03 0.13 0.44 2.57 7.03 22.51

70 0.03 0.03 0.13 0.44 2.57 7.03 22.51

80 0.03 0.03 0.13 0.44 2.57 7.03 22.51

90 0.03 0.03 0.13 0.44 2.57 7.03 22.51

100 0.03 0.03 0.13 0.44 2.57 7.03 22.51
= Z g A2 M Page 108 =

IR REEE 1 -10-90=, 2| FH2Z 0~40= * S1 service life 10,000 hrs (S1: H=2& T 2)
APEX 2

1. Ratio (i=N,,/ N,,,).




AE / AER Series

Characteristic Highlights

True Helical Gear Design
J10f2t E-’;E%OI A0 CHEI
33%01& =0t EAZ2EE ==

AS. 0] B2A YRPFE

WoYHE DN
H=otn T8 SHIMS

ol o

backlash ( less than 8 arc-minutes and < 56dB ).

Solid uncaged needle roller bearings2 =&
e S0l =ItHe =2 LISHHES H&
24, DE3T, MAS2 HES Iy,

|||II\||||
N\‘ I I

‘é" iy

HeliTopo technologys E &5t =2 J
J101 CrowningE Salf 7101 ”‘%m

ZIXSIAIZ. OI20la DI HEH H=EsS
SN ETEY SO

A0l Plasma nitridingE XM el ZHIE HEER

I AR ZBE= 30 HRCZ SASHHAM JIHEHIEE
840HVIHAl =01 UDI24 & LHISZHES SAI0 SHAIZ
ot e el gAa0let €xel= #a0l 2361 B

ot %=

One piece planet carrier with extended bearing design
diOICIY ot= 2= I3 AL AIAES HEt
ZEsS U3 AlIZ.

o= =

APEX 3

Patented sealing system
M
SHO4 OrE ot

=0l TICN 28 XIS

(FE : 3700 Hv, =

Patented planet carrier design
SI101 HIHE S SR Al etol
AXNZ2ZA I 2SS

= o =2 =
£E0 =2 JLEE 23,

Triple split collet with dynamic balanced set

I
I
I
I
I
I
I
I
I
I
I
I
I
I
|
I
I
| collar clamping system 2 BH2l4 2=
I4ds S88Es i bing sy
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I

Sas MUsn 2YEAS 9}7:4 st
Nyogel 792D (Smart Grease) 2 OPJ— 5l HAE

0/. 0O = sty
ABSI0 QULSE S5 8 100%2] &= REZ
SOUULC NG HEs SHS BRE

SAE0t 22818

01 g3 E L

‘R, 0.2 zm).

ATH0IE HIZD|

8 -/ §|>
H 20 dsgs Jys 2Zdot=d

APEX 4



N
AE Series AE Series

Dimensions (1 2=, & =Hl|(Ratio) i=3~10) Dimensions (2%t 2 =5, 2t H| (Ratio) i=15~100)
Cc9 co
L2 L8 c8 L2 L8
L3 L1 Cc11 L3 L1 Cc11
s L ocr L7 Cc10 Ocr
e ( /+\
= N B i i
1 = e
2| = 77777@3‘:—# 3 ~ o g v == T‘r 8 &
8838 1=+ 11 |8z SR S i A o :
,H 3 | 8 ) .
s ] ] ~— @
\ — \_ b ‘ ac1
L4 c6 L4 - o ez
c4 c4
B1 o L6 L5
ﬁ ——m———w Bl o L6 L5
- 'l!,l!.." - K L 22>
I - |f=i!7 - T ] I7=i=/}“ [
25 E2 D6 L9
$D3 L10 403, L10
[unit: mm]

Dimension AEO070 AE090 AE120 AE155 AE205 | AE235 Dimension AEO050 AEO70 AE090 AE120 AE155 AE205 AE235
D1 44 62 80 108 140 184 210 D1 44 62 80 108 140 184 210
D2 M4 x 0.7P M5 x 0.8P M6 x 1P M8 x 1.25P M10x1.5P M12x1.75P M16 x 2P D2 M4 x0.7P M5 x 0.8P M6 x 1P M8 x 1.25P M10x1.5P  M12x1.75P M16 x 2P
D3 s 12 16 22 32 40 55 75 D3 s 12 16 22 32 40 55 75
D4 he 35 52 68 90 120 160 180 D4 ne 35 52 68 90 120 160 180
D5 22 22 30 40 75 95 115 D5 22 22 30 40 75 95 115
D6 M4 x0.7P M5 x 0.8P M8 x 1.25P M12 x 1.75P M16 x 2P M20 x 2.5P M20 x 2.5P D6 M4 x 0.7P M5 x 0.8P M8 x 1.25P M12x1.75P M16 x 2P M20 x 2.5P M20 x 2.5P
D7 53 70 104 130 162 205 260 D7 55 70 104 130 162 205 260
D8 50 70 90 120 155 205 235 D8 50 70 90 120 155 205 235
D9 455 53.4 77 102 125 160 205 D9 45.5 45.5 53.4 77 102 125 160
L1 34.5 -- 33.5 38 50 == 70 L1 61.5 == 33.5 38 50 == 70
L2 24.5 36 46 70 97 100 126 L2 24.5 36 46 70 97 100 126
L3 4 6.5 8.5 17.5 15 15 18 L3 4 6.5 8.5 17.5 15 15 18
L4 1 1 1 1.5 3 3 3 L4 1 1 1 1.5 3 8 3
L5 14 25 32 40 63 70 90 L5 14 25 32 40 63 70 90
L6 2 2 3 5 5 6 7 L6 2 2 3 5 5 6 7
L7 8 10 12 16 20 22 28 L7 8 10 12 16 20 22 28
L8 47 62 80.5 97 119.5 159 175.5 L8 74 87.5 113.5 138.5 176 214.5 260
L9 3.2 4 6 9.5 12 15 15 L9 3.2 4 6 9.5 12 i® 15
L10 10 12.5 19 28 36 42 42 L10 10 12.5 19 28 36 42 42
c1’ 46 70 100 130 165 200 235 c1' 46 46 70 100 130 165 200
c2’ M4 x 0.7P M4 x0.7P M6 x 1P M8 x 1.25P M10 x 1.5P M12x1.75P M12x1.75P c2' M4 x 0.7P M4 x 0.7P M4 x 0.7P M6 x 1P M8 x 1.25P M10x 1.5P M12 x 1.75P
Cc3’ =1 <14/ <16 2<19/ <24 <32 <38 <48 <55 c3' =11 D<11/ <12 <4/ <5875/ <16 D<19/ <24 <32 <38 =48
c4’ 30 30 40 50 60 113 116 c4’ 30 30 30 40 50 60 113
C5° cs 30 50 80 110 130 114.3 200 C5'cs 30 30 50 80 110 130 114.3
c6’ 3.5 4 4 5 6 6 6 (o] 3.5 3.5 4 4 5 6 6
c7’ 48 60 90 115 142 180 220 c7' 48 48 60 90 115 142 180
csg’ 19.5 15 17 19.5 22.5 57 63 cs8’ 19.5 19.5 15 17 19.5 22.5 57
c9’ 91 113 143.5 186.5 239 316 364.5 co’ 118 143 174.5 225.5 292.5 337 443
Cc10° 13.25 9.5 10.75 13 15.5 48.75 53.5 c10°* 13.25 13.25 95 10.75 13 15.5 48.75
c11° 19.5 33 35.5 46 53.5 107.5 106.5 c11’ 19.5 19.5 33 35.5 46 580 107.5
B1 ho 4 5 6 10 12 16 20 B1 o 4 5 6 10 12 16 20
H1 14 18 24.5 35 43 59 79.5 H1 14 18 24.5 S5 43 59 79.5

1. AE 070 25| 1/5 2 1/100il 5+ F 5l €3 = 16mmS optional2 M E 2. AE0900i Al C3 = 24mmS optional 2 X2, T 15 2& X 21(S1 condition) O Al = AL FO/E QY 1. AE 070 Z =8| 1/15~1/5001 S& ol C3 =12mm<S optional2 HlS 2. AE 090 Z =U| 1/15~1/500{l S &5l C3=15.875 & C3=16< optional £ XS

3.C1~C112 HE2H 0l et CHELICH ZA ZH 0l Xl www.apexdynakorea.co.kr2 & 2551415 Design ToolS 0| 25101 X|4+S 20182 AUSLICH 3. AE 120 Z'=H| 1/15~1/1000i CHoll C3 = 24mmS optionalZ XS, & HX2H L 2(S1 condition) MM E AISY FAASE 28

4.C1~C1M2 HEZ2H0 et CHELICH A 101Xl www.apexdynakorea.co.krZ & =5t41 = Design ToolS 0/26t01 XI5 &g UASLICH

APEX 5 APEX 6



AER Series AER Series

Specifications Dimensions (1% 2H=, 2r=td|(Ratio) i=3~20)

Gearbox Performance

L8

Model No. |'Stage | Ratio |AER050 AER070|AER090|AER120|AER155| AER205| AER235
3 9 36 90 195 342 588 1,140 L2 L1
4 12 48 120 195 520 1,040 1,680 oz ‘ £ a ocr
5 15 60 150 260 650 1,200 2,000 .
6 18 55 150 325 600 1,100 1,900 /// O
1 7 19 50 140 310 550 1,100 1,800 / ' 1
8 17 45 120 300 500 1,000 1,600 -JoH- 5 8[&| & IO N i
9 14 40 100 260 450 900 1,500 \ ,
10 14 40 100 230 450 900 1,500 & NN — oot 8
14 - 42 140 300 550 1,100 1,800 -
20 - 40 100 230 450 900 1,500 ‘ ~ | | G c2 e
15 14 - - - - - - 1
20 14 - - - - - - ‘ 81
25 15 60 150 325 650 1,200 2,000 U——I—’
30 20 55 150 310 600 1,100 1,900 \
Nominal output torque T,y Nm 35 19 50 140 300 550 1,100 1,800
40 17 45 120 260 500 1,000 1,600 - s
45 14 40 100 230 450 900 1,500 T |
5 50 14 60 100 230 650 1,200 2,000 (o 5
60 20 55 150 310 600 1,100 1,900 ., .
70 19 50 140 300 550 1,100 1,800 g o
80 17 45 120 260 500 1,000 1,600 ==
90 14 40 100 230 450 900 1,500
100 14 40 100 230 450 900 1,500 [unit: mm]
120 - - 150 310 600 1,100 1,900
140 _ _ 140 300 BB 1100 1.800 Dimension AER050 AER070 AER090 AER120 AER155 AER205 | AER235
160 - - 120 260 550 1,000 1,600 D1 el o 0 108 140 184 210
180 _ _ 100 230 450 900 1,500 D2 M4 x 0.7P M5 x 0.8P M6 x 1P M8x1.25P  M10x1.5P M12x1.75P M16 x 2P
200 - - 100 230 450 900 1,500 D3 s = 16 22 32 40 55 75
Max. output torque T, Nm 1,2 3~200 3 times of nominal output torque D4 ne 35 52 68 90 120 160 180
Nominal Input Speed n,, rpm 1,2 3~200 5,000 5,000 4,000 4,000 3,000 3,000 2,000 D5 22 22 30 40 75 95 115
Max. Input Speed n,, rpm 1,2 3~200 10,000 10,000 8,000 8,000 6,000 6,000 4,000 D6 M4 x 0.7P M5 x 0.8P M8 x 1.25P M12 x 1.75P M16 x 2P M20 x 2.5P M20 x 2.5P
. 1 3~20 =10 =10 =10 =10 =10 =10 =10 D7 53 70 104 130 162 205 260
Backlash aremin 2 25~200 =14 =14 =14 =14 =14 =14 =14 D8 50 70 90 120 155 205 235
Torsional Rigidity Nm/arcmin 1,2 3~200 3 7 14 25 50 145 225 L1 34.5 - 33.5 38 50 - 70
Max. radial load F,.’ N 1,2 3~200 702 1,377 2,985 6,100 8,460 13,050 8,700 L2 24.5 36 46 70 97 100 126
Max. axial load F,,’ N 1,2 3~200 350 630 1,300 2,400 4,000 6,200 4,800 L3 4 6.5 8.5 17.5 15 15 18
Max. axial load F,.,;’ N 1,2 3~200 390 765 1,625 3,350 4,700 7,250 18,000 L4 1 1 1 1.5 3 3 3
Service life hr 1,2 3~200 20,000 * L5 14 25 32 40 63 70 90
- 1 3~20 >95% L6 2 2 3 5 5 6 7
Efficiency N % 2 25~200 ;92% L7 8 10 12 16 20 22 28
. 1 3~20 1.0 21 5.8 11.2 22 .4 46.8 78.0 L8 115.5 146 201 252 324.5 379.5 461.5
Weight kg 2 25~200 13 2.0 46 1M1 218 437  81.9 L9 3.2 4 6 9.5 12 15 15
Operating Temp® "© 1,2 3~200 -10°C~+90°C L10 10 12.5 19 28 36 42 42
Lubrication 1,2 3~200 synthetic gear grease (NYOGEL 792D) c1’ 46 70 100 130 165 200 235
Degree of gearbox protection 1,2 3~200 1P65 c2’ M4 x0.7P M4 x0.7P M6 x 1P M8 x 1.25P M10 x 1.5P M12x1.75P M12x1.75P
Mounting position 1,2 3~200 all directions c3’ <11 <14/ <16 <19/ <24 <32 <38 <48 <55
Noise level (n,=3000rpm) dB 1,2 3~200 <61 <63 <65 <68 <70 <72 <74 c4’ 30 30 40 50 60 113 116
C5’ co 30 50 80 110 130 114.3 200
Gearbox Inertia e 35 4 4 5 6 6 6
| Stage | Ratio |AER050 AER0O70|AER090| AER120| AER155| AER205| AER235 c7 48 60 90 15 142 180 220
e e S e G S O e
- . . . . . . 3
o B N e T e EoIE 1198 c9 3 100.5 112.5 159.5 199 2455 344 398.5
Mass Moments of Inertia J, kg - cm’ 15 0.09 — — = - — = c10 13.25 9.5 10.75 13 15.5 48.75 53.5
20 0.09 - - - _ _ - c11’ 74 77.5 107.5 134 164.5 241.5 268.5
2 25~100  0.09 0.09 0.35 2.25 6.84 23.4 68.9 B1 no 4 5 6 10 12 16 20
1. Ratio (i=N,,/ N,,,). 2.0|&F &85 20l 2ot Zeln %Eng:(ﬁ)?pa\ 0l ot %azaoﬂ E[};} £XE= E‘O%.;L ‘2)9[!11[:'6:979. 31%‘56-25 218 85.8 R 1k it Zaii) £ ) o 1)
T 30 mEEE  0-00s, 220 FUEE 0405 % S1 service life 10,000 hrs (S1: S1& 2 X ) O o D T A O o A 31 5115 Declis o DSl AE 8 BoiS Bt

APEX 7 APEX 8



A& Series

'II-.’.E'II =gi=xo0 I E"OIEIO-I (m]]| /\E-lAE '6'-|.Q.'6|-7‘
| _ A o= | 855 = x —=FZ= 918§°%%s
Dimensions (2¢t 2t =, 2r= 4| (Ratio) i=25~200)
100,000
60,000 golbg st5(F,)°l 8%
L8 —
L2 L z,. 000 FA°l B
B | ocr u_E% 20,000 X=1/2 x L °l 4.
a § E 10,000
‘ ] — 52 600 ¥ Arz35/Ackess | BHS ATHMI| G2
| %}, g g 4,000 ~_] EQ:- AE155 / AER155 '|L’n\_1| —— 6‘1-9-E||0|E|°|
. j " g g 2,000 " e | \./-AE1201AER120 El_l =295 [e] =
S-S e e - . [ £E T —— AE090/AER0%0 | SHF2 ARTHN I
° v ES 1o T AE070/AER070 | 2T MEHH
] - T g5 ﬂ-‘\\\ e
L F T O @C1 500 ‘~~~\f AE050 / AER050
| 3 © il c2 L 10 20 40 60 100 200 400 600 1000 2000
©; ,,H‘,; A I g W_ Output Speed n, [ rpm ]
¢ g F“@
ac5 ., F_F J
2a2=?a>1 77777 1 | \
ol A5, )0 BH
— R F, Radial Load SN HolTR U4
F.. Axial Load 1; oY SFL HY Bl
T s B 1 :3 AE050 / AER050 PSS
t < 12 AE070/AER070 | 31§ FO|HY 351 AHAE
%@ - 8D6 Lfﬁo g 1.1 Q AE090 / AER090 StE2 AAHRK)N 25 W
: -_S (1)2 NNNS AE120/ AER120 | =4 UaLC}
3 0:8 AN AE155 | AER155 AL ABCHON oIS
[unit: mm] g 07 .\.\,\\y NQ\ AE205 / AER205 & Ag4yo.
7] 0.6 AYAY AE235 | AER235 O H3jo| QAT ZBXL Hiof
Dimension | AER050 AERO70 AER090 AER120 AER155 | AER205 | AER235 g 05 \‘; \}4\2 N Vi W 9 AYEOl AE West
D1 44 62 80 108 140 184 210 04 N N~ T~ L :q” -
D2 M4x0.7P  M5x0.8P M6 x 1P M8x1.25P M10x1.5P M12x1.75P M16 x 2P 03 S i s == S ’
D3j6 12 16 22 32 40 55 75 0 40 80 120 160 200 240 280 320 360 400
D4 1 35 52 68 90 120 160 180 Position X [ mm ]
D5 22 22 30 40 75 95 115 A7 Datas Y STAIMHOAIN O LBHAOl SMAETZEOIN 2TMZAHO| "Igsf'*l'-f:éué | &85
D6 M4x0.7P  M5x0.8P M8 x 1.25P M12x1.75P M16x2P  M20x25P M20x2.5P B2 3HO N3O fHEES fAE dAES UEHO. CIEES FES ANEZ MESIAT HEY,
D7 53 70 104 130 162 205 260
D8 50 70 90 120 155 205 235
L1 34.5 = 33.5 38 50 = 70
L2 24.5 36 46 70 97 100 126 L
L3 4 6.5 8.5 17.5 15 15 18
L4 1 1 1 1.5 3 3 3 m
L5 14 25 32 40 63 70 90
L6 2 2 3 5 5 6 7 .
L7 8 10 12 16 20 22 28 g |
L8 142.5 167.5 207.5 283 358 422.5 506.5
L9 3.2 4 6 9.5 12 15 15
L10 10 12.5 19 28 36 42 42 H
c1 46 46 70 100 130 165 200 12
c2 M4 x0.7P M4 x0.7P M4 x 0.7P M6 x 1P M8x1.25P M10x1.5P M12x1.75P v
c3* <1 <11/ <12 ?<14/ <15.875/ <16 <19/ <24 <32 <38 <48
c4’ 30 30 30 40 50 60 113 [unit: mm]
C5" as 30 30 50 80 110 130 114.3 em——
ce’ S 9.5 & < 5 B 2 AE050-NEMA 23 66.675 6 77 38.15 57.2 2 8 18.5
cr 48 48 60 90 115 142 180 AE050-PX60 70 5.6 80.5 50 60 2.5 8.5 18.5
cs' 19.5 19.5 15 17 19.5 225 57 AE070-Metric 90 6.6 106 50 80 3 11 28
co! 100.5 109 129.5 172.5 215 267 371.5 AEO070-NEMA 34 98.425 5.6 115 73.08 86 2.5 8 30.5
c1o L 95 107 19 I RE090.1EC 6305 55 NS 5 L g5 i . o —
c1t’ 4 74 S 10 ih i{ESE ety AE090-NEMA 42 125.73 7 144 55.58 107 4 14.5 35.5
B1he 4 5 6 10 12 16 20 AE120-NEMA 56 149.225 6.6 170 114.3 127 3 17.5 55.5
H1 14 18 24.5 35 43 59 79.5 AE155-B5 175 11 196 130 160 5 20 82
1. AER 070 C3=12mm§ opt!onali M= 3 AEB 090;)]3—15 875&03-16f opgopal}f Hlion AE205-B5 230 13 277 180 210 5 23 82
i: 253011210%3égé?&qémg?nt?nzaﬁmatﬂ ;E\O\I\X;vadgspgg;:ﬂzzawcﬁ krgggo lésci!gn ToolZ 0IE5t04 XI4+2 =Holgs ASLIT AE235-B5 275 17 317 235 240 5) 23 108
APEX 9 APEX 10



Nl

on of the Optimum Gearbox

Ordering Code

Selection of the Optimum Gearbox

S5 S1
HE 20 os 2N
Cycle Operation Contlnuous Operation

YES

-??

Recommended (for S5 Cycle Operation)

The general design is given for

J
i—;s4xJ,,,

The optimal design is given for

Jo o
k=l

J, Load Inertia

J.. Motor Inertia

m

APEX 11

e

ny
C 3. Ty =

4. Tomax =TmeX i X kg* 7

Motion Profile

-n
N
S
n
N
N
o
R N e

S1 AS2MY TIE
~Z Cycle® REAI2:0] 60% Ol ALY

-HSAI2H01 20 22 =M

t+ to+ ty
.ED = t—x 100%, t o = ta + 1o + g
cycle
Index : a. Acceleration, c. Constant,
d. Deceleration, p. Pause (Eq.1)
: s Ny
2.1= Nyork
Ny, Output Speed of the Motor
Nyork Working Speed (Eq.2)

3 3 3
XX T Ny Xt X T+t Toq

NaaXtatNpeXtotnygxty

(Eq.3)

where K is

KS
1.0
1.1
1.3
1.6

1.8

T.s Max. Output Torque of the Motor

n Efficiency of the Gearbox (Eq.4)
- —_1
5. Mga =Nyg =—5—% Ny,
n Noa X ta+ Npe X t+Nyy X 1y
2m n ta + tc + td
Non = % (Eq.5)

NoaXtatNo Xt +nyyxty

NoaXtatNpc Xt gy Xty (Eq.6)

3 3 3
nZaxtaxFZra +n2<:xtch2rc +n2dxtdxF2rd
F2rm_ 3

3 3 3
J n2axtaxFZaa +n2cxtchZac +n2dxtdxF2ad
3

_________________________________________________

i Gearbox Size: AR
| AE050, AE070, AE090 b |
i AE120, AE155, AE205, AE235 L i

__________________________________

Manufacturer, type

and model

Motor Designation:

———————————————————————————————————————————————————————————————————————————————————————————————————————————

Ratio:

2 Stage: 15, 20, 25, 30, 35, 40, 45, 50, 60, 70, 80, 90, 100

i 1 Stage: 3, 4, 5, 6,7, 8,9, 10

Ordering Example: AE090-010 / SIEMENS 1FT6 041-4AF71

AER Series

i Gearbox Size: ] 3 i
; AER050, AER070, AER090 I
| AER120, AER155, AER205, AER235 | | |

Manufacturer Type
And Model

Motor Designation:

_________________________________________________

———————————————————————————————————————————————————————————————————————————————————————————————————————————

* *
1 Stage: 3,4,5,6,7,8,9, 10, 14, 20
2 Stage: 25, 30, 35, 40, 45, 50, 60, 70,

Kk K*kk k*k k%

* %
80, 90, 100, 120, 140, 160, 180, 200

» AERO500 M= 2E & "9
*»* AER050,AER0700l = & E¢tE

Ordering Example: AER050-010 / SIEMENS 1FT5 034-OAK71

APEX 12



	쪽 1
	AE9-10.pdf
	쪽 1

	AE7-8.pdf
	쪽 1

	AE5-6.pdf
	쪽 1

	AE3-4.pdf
	쪽 1

	AE11-12.pdf
	쪽 1


